b) (4n - 2)-2n? - 4n - 5)
= 4n(=2n* — 4n — 5) — 2(~2n% — 4n — 5)
= 4n(=2n°) + 4n(—4n) + 4n(-5) — 2(=2n°) — 2(—4n) — 2(=5)
= =80’ + (=16n%) + (—20n) - (-4n?) ~ (~8n) — (—10)
= —8n° —16n° ~ 20n + 4n? + 8n + 10
= —8n° — 16n% + 4n> — 20n + 8n + 10
= =8~ 12n" = 12n + 10
Verify. Substitute n = 2.

Multiply each term in the
trinomial by each term in
the binomial.

Left side Right side

(4n — 2X(—=2n* ~ 4n - 5) —-8n° - 12n% = 12n + 10
=@X2-2((-2)x22-4x2-5) =(=8)X2°-12%22-12x%x2+ 10
=@8-2(-8-8-5) = —64 — 48 - 24 + 10
= (6)(—21) = -126
= —126

The numbers match, so the product is likely correct.

Che_qk

1. Expand, then simplify and verify.
(3n — 1¥4n? — 6n — 2) = 3n( ) — U )
=3nm__ )+3n(__)+3n(_ )- K )= ) = 1( )
" M- - - )

Il

- __ n - n - "+ _ n+
= n - n’ — n® — n+ n+
= - +
Verify. Substitute n = 2.
Left side Right side
(3n — 1)4n* — 6n - 2) - +
=(__X2-__ }_ x2- =_ _ x22-  x224
__X2- ) = - +

(- _-_ - =
= ()

The numbers match, so the product is likely correct.

1. Expand, then simplify.

a) Gn3En’+2n+ 1) Multiply each term in the by
= 5n( ) + 5n( ) + 5n( )
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